Program Ex_3;

Var n, m: integer;

X, z, z1, z2: real;

Function summa (k, a, c, d: integer; x: real): Real;

Var i: integer; z: real;

Begin

    z:= 0;

    For i:= 1 To k Do
          z:= z+(a*b+c)/ (sqr (i)+d);

          Summa:= z

End;

 Begin

     Write (‘n,m,x’); Readln (n,m,x);

      z1:= summa(n,2,1,2,x);

      z2:= summa(m,1,5,3,x);

      z:= z1+z2;

Writeln (’z=’, z:8:1);

Readln
End.

Тогда программа с использованием процедуры запишется в виде:

Program Ex_4;

Var n, m: integer;

x, z, z1, z2: real;

Procedure summa (k, a, c, d: integer; x: real; var z: real);

Var i: integer;

Begin

    z:= 0;

    For i:= 1 To k Do
          z:=z+(a*x+c)/(sqr (i) + d);

End;

 Begin

     Write ('n,m,x'); Readln (n,m,x);

     summa(n,2,1,2, x, z1);

     summa(m,1,5,3, x, z2);

      z:=z1+z2;

Writeln ('z=', z:8:1);

Readln
End.

